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o 1. ¢V IJR: 88 Understand Absolute Value Equations

A. What is the value of x in 7 = |x| + 2?

Solve for x by isolating the absolute value expression on one side of
the equation.

STUDY TIP 7-2=|x|+2-2 <« grs: teh:ysgfbéra::l?t;

The absolute value of a number 5= |x]| pq

s its distance from O on a

wmber line. ‘__:——irﬁ’ 4————0-——;—»

Both —5 and -5 are 5 units away from 0. ‘ a
The solutions are x = ~5andx=5.
Check the solutions.
7Z|-5]+2 74 15]+2
542 £54+2
= I =l
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USE STRUCTURE

When solving an absolute value
equation in the form [ax + b|=¢, -
use two different equations to
find the solutions, ax + b = ¢ and
ax+b=-c. @MP7

EXAMPLE 1 CONTINUED
B. What is the value of x in [2x — 3| = 1?

Write and solve equations for the two possibilities:
2x - 3 is positive. 2x — 3 is negative.
2e-3 2 kgl L 1 2SRRI SN0
2x-343=1+3 : ) 2X-3+3=-1+3
2=a ahe | : s G
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STUDY TP The cruising speed of
ouanseansbsterdue  Kennedy's boat L ""{ h
eqatonto el a gty She plans to cruise at this
"pus o minus” another uantity,  peed forthe distances
shown in the diagram,

A. What equation
models the number ¥
of hours x that Nottoscale
Kennedy quI travel7

- Thedistance Kennedy
actalyvals

Ny m\ Oy wvw"

25¢-80]=10

ot
-
o

Fina ditance from the
80mil poit
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EXAMPLE 2 CONTINUED
B. What are the minimum number and maximum number of hours

Kennedy will travel?
Write and solve equations for the two possibilities.
If Kennedy travels plus If Kennedy travels minus
10 miles, the absolute value 10 miles, the absolute value
expression is positive, expression is negative,
25x -~ 80 = 10 : 25x - 80 = ~10
25x — B0 + 80 = 10 + 80 25x ~ 80 + 80 = ~10 + 80
g:; 25x = 70
x=36 %%-fgg
mmmnum:-u

Kennedy will travel at least 2.8 hours and at most 3.6 hours.

S N S S B R B A SR A e e 3 g M0 T b

L v J'l"” 2. What will be the minimum and maximum time that Kennedy
. will travel if she resets her cruising speed to 20 mi/h?
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UNDERSTANDING  (OJZTNIIEED understand Absolute Value Inequalities

What are the solutions of an absolute value inequality?

COMMON ERROR Solve and graph two absolute value inequalities.

Remember to look atthe > and

< symbols when solving absolute A. 3 units 3 units |x] <3

@* m m : D D |x] < 3 is equivalent to
PEE Natolh Vuialr bete 5 : e e TR S the sodianorid meality

X < 3 and x > -3, which can
also be written as -3 < x < 3.

The distance between x and 0 must be less
- than 3, so the values 3 units to the right and
© 3 units to the left are solutions.

Bttty ched





image6.jpeg
8%
i Jaquisw weay
UIW pUe WNWIXew a3yl puly o3 Ayjenbaul ay3 aajos

: U2AELD
- o1 fenbs Jo ueys

Isz1—xvl
$59| SI G/Z1$ PUE 150D |30} USIMIB] 3DUBISHIP YL

‘wool |30y e Jo 1ybiu Jad 3501 3yl aq x 137

P .

.N&er«_w.wsa juasaidal 03 Ayijenbaul anjea ainjosqe ue UM

ybiu sad uosiad 13dx

oo
058 4 [910H
J [930H

,S150) WOOY [230H

y oL JO UIUM 'SLLS JO 0Z8

Koy} ued UMoys s|910
i t%_ﬁ.__wﬂuuu 103 1502 [€303 UL “SIYBIU ¥ 10} 310y © U1 Ae3s
aq s 1pqud e 03 BuljaAen aie weal ajeqep oy JO SIqUIRIN
uiysm n J:uEm:..:o« X A||zo
Ao 224 fyyjenbaul ANEA anjosqy ue M (RIS (8
1]

e








